Tender Heart High School, Sector 33B, Chd.

Class 9 Mathematics Date :19.8.2024

. .. Ms. Reena
Revision

section A CAttempt all Questions)

Question
(@ Solve (5-673)%

&) Eualuate (13%F )" uSin(? idemli%ﬁt (a+hb)*
() Factorise x?+9x + 18

(D Solve /(g)f-zx _y 1t
27

Q ue.s‘l‘ion B

@) Ex}mnolz @x— 3&/)3

(b) Rationalise the denominate) of A

Vs—J3

(C) Caﬁwﬁafe ’H\e_ amount and -Hlé cOm}oou)’)C[ ]m,leresf
on T 12500 for 2 Years al | % per annum,
compounded. annuaﬂef..

Question 3
w If ‘o ond ‘E are rational numbers and

213 - a4 b/3 3 find the values of ‘a’

2-J3
and b’
Lb) Factorise 0F x> _ |25

x3

(C) Sim};lif& goFS & x 5 N+
QX 5" — 2% 5N @age—l)
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Question Y
(@ Expand (-%x - %_3_)2— A

(b) In the add‘oim'n —f’i(]ure_,
D,E,F are the’ mid- points > F
of the sides AB Bc andcAh
fe.s}?ec{‘l'veﬁ(tf ; 5
(i) I# Ac = Fiem, Pind > =
(i, I? DF = Y-lem, find Be

(€D In the given figure , AB =AC

and AD is the bisector of £A
Prove. that:~

(1> D is the mid-boint of Bc B c

D
Ui AD L BC
Question 5
@) Exbress 2:-8 as a vuﬂgar ﬁracflbn in s;’m}ol’e.s-z'
form.

(b) What sum of moned will amount 4o & 78Yo

in 2 Years at 12%/s ber annum, compounded
annuaflj P4

(Page -2\
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Question 6

(@) TIn the 3iven fijure,
AB =cF, EF=B2> and
ZAFE = £DBC

Prove. that M AFE s
Conjruent to AcPD.

(b) Tn AABC, 2c = 90", TED is the mid-point of BC,
prove that AR* = yADP - 3Ac*
) Re}:resent the -ﬂoMowing ra'(f'ionaﬁ )’WMA?_P

on numbeyr ULine .

Ci 2 G i 1
‘ Y +
Question 7
(a> If 1960 = 2% x 5° x 7, find the values
0£ a, E,c,,
(DD In the 3iVen -ﬁfgure.) £ D=9 ?
AB = 16cm , BC = 12cm and cA= Gem
Find D,
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_Question&

il &
(23 Evatuate 827 X(4Y® x(8)?
27% 2+ (64 )73

(&) IF 5+213 - q-by3 |, Lind the vablue
7 +Yy3

o a and ‘b

‘Ques‘f/'onq

(a) p'rrange the -ﬂo.Mowin(? ﬂumbers n aswd;’#
order - 32z, [3,¢5

(b) Find the amount and the Com/:ounaé interest
on Tg2500 for 11 Years at 8> ber annum,

compounded ﬂaﬁf—zgearlél.
€ T >+, ={g 4 Pind the valve. of

x*
m x-_L gy x3-L
o x3
Ques‘#l'Oh 10
(a) Factorise 3-12(x-y)

(b) In the 8chn —pl'aure

AD=Rc and Ac = BD.
Prove. that

ZOAB = ZORA
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